
EXPLODED VIEW KEY:
KB = Kit Build, AL = Alloy, BR = Brass,
CF = Carbon Fibre, Ti = Titanium, St = Steel,
KC = Kashima Coated, Mf = Medium Flex,
Sf = Stiff Flex, CNC = Machined,
Pro = Precision Bearing, Ce = Ceramic Bearing,
CFf = Carbon Fibre Filled.

PRO 1/10th 2WD Off-Road Buggy

U8555

U3667

U7677

U8380

U7630

U4371

See above

U7698
Ball Diff Complete

U8603
CVD Driveshaft Complete

U8270
CVD Driveshaft Complete

U4451

U4702

U3667

U2761

U8635

U8395

U4176

U8380

U8380

U1960

U3667

U7632

U4707

U8621

U8631

U7695

U7697
U3364

U8627

U8273

U7677

U8580
U7122

U8633

U7629

U7617

U8579

U8618
U7622

U7610

U7108

U8621
U8631

U3364

U7615

U8399

U7329

U3021

U7122

U7112

U7707

U7645

U4773

U4220

U7900

U8190

U7611

U8547

U8547

U7611
U4650

U8275
U7106

U4775
U7611

U8200

U8188

U7707
U7105

U7106

U4662

U7709

U8560

U7108

U8536

U3023

U3023
U7124

U8610 U7707

U8400

U4850

U4850

U7707
U4689 U4689

U7104

U8644

U3023

U3023

U7106

U8400

U4299

U7106
U7689

U7105

U7710

U7707

U7707

U8194

U7339

U8187

U7611
U4650

U4650

U4650

U4650

U7636

U7065

U7106
U7710

U7107

U4674

U4650
U7707

U7106
U7123

U7122

U7106
U7108

U7106

U8400

U4299

U7711

U7711

U4650

U4700
U4689

U4650

U8400U8559

U7106

U119

U7629

U7970

U3364

U7677

U7618

U8581

U7671 (71t)

U8585 (66t)

U8628

U7108
U8622

U8625

U7634

U3023

U8620

U8623

U4650
U7065

U7610
U4674

U3834

U3834

U7122

U7677

U8626

U7693

U4386

U4220

See Rear Wheel Hexes Below

See Wheel Nuts Below

See Rear Wheels Above

See Front Wheels Above

U7662

U8271

U7900

U3708

U4386

U8614

U8613
U7712

U3753

U7628
U7107

U7644 U4704

U4704

U4862

U4704

U7710

U7104

U8275

U8548

U8548

U8195

U8275

U4650

U4704

U4224

U7105

U8551

U7707

U3023

U3022

U3022

U3834
U3708

U3729

U7083

U8611

U7108

U7619

U7611
U7106

U7952

U4176

U8433

U8433

U4176

U8635

U3754 U3754

U8433

U8433

U8433

U7696
U7622

U8630

U7697

U3364

U7694
U7692

U7692

U3855

U4124

U7615

U4004

U8399

U8274

U8274

U8274U8274

U8297U7105

U3311

U7622
U7618

U8618

U7617

U8620

U3022

U3023
U7122

U8624

U3706

U7431

U8426

U7625 KB
U4890 AL

U2698 KB
U4946 Pro

U2698 KB
U4946 Pro

U4700 KB
CR720 Ti

U4275 KB
CR282 Ti U4274 KB

CR280 Ti

U2698 KB
U4946 Pro

U2698 KB
U4946 Pro

U4318 KB
U4726 Pro

U8545 KB
U8576 AL

U8607 KB
U8639 Ti

U2699 KB
U7725 Pro

U8296 KB
U8389 AL

U8311 KB
U8629 Dirt 

U2698 KB
U4946 Pro

U2698 KB
U4946 Pro

U2698 KB
U4946 Pro

U3136 KB
U4344 Pro

U2698 KB
U4946 Pro

U3136 KB
U4344 Ce

U8051 KB
U7678 Br

U4275 KB
CR282 Ti

U8609 AL
U8632 CF

U8204 KB
U8207 AL

U8643 KB
U8211 AL
U8212 BR

U3075 KB
U3386 Ce
U7730 Pro

U8552 KB
U8574 5°
U8575 2.5°

U8550 KB
U8654 A
U8655 B
U8656 C

U8634 KB
U8608 Sf
U8640 CFf

U7388 KB
U7434 KC

U7068 KB
U7975 (mid) AL
U7976 (hi/lo) AL

U7389 KB
U7435 KC

Big Bore Springs Front (Medium)
CR177 CORE RC Big Bore Spring Tuning Set; Med 7prs
CR179 Big Bore Spring; Med White - 2.8  pr
CR180 Big Bore Spring; Med Red - 3.1  pr
CR181 Big Bore Spring; Med Green - 3.4  pr
CR182 Big Bore  Spring; Med Blue - 3.7 pr
CR183 Big Bore Spring; Med Black - 4.0 pr
CR635 Big Bore Spring; Med Orange - 4.3  pr
CR636 Big Bore Spring; Med Yellow - 4.6  pr

Rear Wheel Hexes
U8619 Alloy Wheel Hex 4mm (-3.5) pr KB LD3D
U8429 Alloy Wheel Hex 4.5mm (-3.0) pr
U7646 Alloy Wheel Hex 5.25mm (-2.25) pr
U7398 Alloy Wheel Hex 6mm (-1.50) pr
U7402 Alloy Wheel Hex 6.75mm  (-0.75) pr
U7403 Alloy Wheel Hex 7.5mm (0) pr KB LD3M & LD3S
U8543 Alloy Wheel Hex 7.5mm (0) Black pr

Big Bore Springs Rear (Long)
CR178 CORE RC Big Bore Spring Tuning Set; Long 7prs
CR184 Big Bore Spring; Long White - 1.8  pr
CR185 Big Bore Spring; Long Red - 2.0  pr
CR186 Big Bore Spring; Long Green - 2.2  pr
CR187 Big Bore Spring; Long Blue - 2.4  pr
CR188 Big Bore Spring; Long Black - 2.6  pr
CR699 Big Bore Spring; Long Orange - 2.8 pr
CR700 Big Bore Spring; Long Yellow - 3.0 pr
CR808 High Response Spring; Long Red - 2.0 lb/in (pr)
CR809 High Response Spring; Long Green - 2.2 lb/in (pr)
CR810 High Response Spring; Long Blue - 2.4 lb/in (pr)
CR811 High Response Spring; Long Black - 2.6 lb/in (pr)
CR812 High Response Spring Tuning Set Long 4prs

Front and Rear Wheels
JC3347W Mono 2.2" Front Wheel (White)-4pc -2wd
JC3347Y  Mono-2.2" Front Wheel (Yellow)-4pc - 2wd
JC3348W Mono-2.2" Rear Wheel (White)-4pc
JC3348Y  Mono-2.2" Rear Wheel (Yellow)-4pc
JC3376W Mono-2.2" Slim Front Wheel (White)-4pc
JC3376Y  Mono-2.2" Slim Front Wheel (Yellow)-4pc
U4365  Wheel; Hex Rear - Black - Off Road - pr
U4366  Wheel; Hex Rear - White - Off Road - pr
U4367  Wheel; Hex Front - Black - 2wd - pr
U4368  Wheel; Hex Front - White - 2wd - pr
U4660  Wheel; Hex - Slim - 2WD - Black

Wheel Nuts - M4 Serrated Flanged
CR024 CORE RC - Serrated M4 Steel Wheel Nut pk4
CR035 CORE RC - Serrated Alloy M4 Nuts; Blue  pk 4
CR036 CORE RC - Serrated Alloy M4 Nuts; Violet  pk 4
CR196 CORE RC - Serrated Alloy M4 Nuts - Black - pk4
CR304 CORE RC - Serrated M4 Titanium Wheel Nut pk4
U7400 Serrated M4 Low Profile Titanium Wheel Nut pk4

STOCK SPEC

DIRT SPEC

MOD SPEC

REAR FRONT

U4275 KB
CR282 Ti

U8615 KB
U8650 CF

U8616 KB
U8651 CF

U8194 KB
U8438 AL

U8617 KB
U8638 AL

U8198 KB
U8205 AL

U7337 KB
U7404 AL

U7672 KB
U4224 LD3D U8194 KB

U8334 AL
U7839 CF

U8194 KB
U8334 AL
U7839 CF

Front Wheel Hexes
U8619 Alloy Wheel Hex 4mm (0) pr KB
U8429 Alloy Wheel Hex 4.5mm (+0.5) pr
U7646 Alloy Wheel Hex 5.25mm (+1.25) pr

U4275 KB
CR282 Ti

U8612 KB
U8649 Sf
U8648 CFf

U4661 Wheel; Hex - Slim - 2WD - White
U7454 Wheel Front Slim 2WD - Neon Yellow v2 - pr
U7455 Wheel Front Slim 2WD - Neon Yellow v2 - 5pr
U7456 Wheel Front Med 2WD - Neon Yellow v2 - pr
U7457 Wheel Front Med 2WD-Neon Yellow v2 - 5pr
U7460 Wheel Rear Off-Road - Neon Yellow v2 - pr
U7461 Wheel Rear Off-Road - Neon Yellow v2 - 5pr
U7466 Wheel Front Slim 2WD - White - 5pr
U7467 Wheel Front Med 2WD - White - 5pr
U7469 Wheel Rear Off-Road - White - 5pr

U7728

U7634 KB
U8578 AL

U7952 KB
U8381 AL

U8502 3 Plate Slipper Clutch Conversion 


